D Qe =B Awy =>

A

C?Q © = R-L (U’t +X_1) = 0.0Y (15+X;)We.b
o2

"

'SML }xgn ¢B e = B'L(—Uf+>(4§ = 0.0y (-‘ﬁ +X4)WQD
‘E‘:latfs,@ =004V (0"1CanN Ies ~1S20 , DDA Jang .o.not
S P / S il
lc 0'ToA IND DAL AD Hynlle nlc A;\Jl

Izconst => By = const, ™ Qgy=cohst. =Tl =O (:c. @
AN S?a Iw =>Mu;/w.5n.m By => DN d2e CPB&) = I’TQ‘«W 2 Iu\i (3
ggwg? I => DN an.s B => NI {dP CPB ) =>Insu AT Im«i (2
2T @ =3 )\Sn..ml B &) =Da3inrn c\;‘ea bay = ,nsu Py Imal €
_~eonnl ggz; Q,gn..) Bté) llc._; G&Dl@)lda (&
SAnann Ic.gl Q.Sn.l 'c.g Bw o ,@WD (l
T‘\ ,é'..:\:\ __ ﬁllcg A'yJ _n/c—

N

I=const =
_j\’l'\ M AN < NISON

I=const. 1& =\

pé?fﬂ DT ~NEoN
D' and sl

]
...l‘glc_ JB’A’\?.:\N He 1anNN |



